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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. €2HIYl SlEUBRL Ulcdatl gcllol AW, 14
What is Flip-Flop? List types of Flip-Flops.

Flip-Flop 8 8? dotl Us( ol A€l oletlal.

What is BUS? List Buses used in Computer Architecture.

BUS g 87 siieje? wslRsAuHl duRldl BUSe{l L€l wlailcl.
List types of Shift-Registers.

Shift-Registersell U2\ oll ALEL olatlcl.

If D'I'T; —is the CW, then which type of interrupt will be executed?
AD'IT; A CW B, dl 52l YslRall Boze Asdsye U?
Define: (i) Instruction Code & (ii) Operation Code

RUUARA $: (1) Bor2s2ot SIS () BU2UA SIS,

What is effective address?

B¥sdlal AJU 9 O?

What is Virtual Memory?

aRjud AUl 9 B?

Define Address Space & Memory Space.

AJU AU AA AHA 20, AR s

What is Register Transfer Language?

YRR 2oy Qoo 9 B?

Why Handshaking method is required?

3o5-A8loL yslaltell %32 31 ud 87

A micro computer system use a RAM chip of 1K 2 8 and ROM chip of 2K 03

2 8 size. The system needs 4K RAM and 8K ROM, then
(1) How many RAM and ROM chips are required?
(i1) How many address lines needed to decode for RAM and ROM
chips?
As HBs siege AleHHl 1K 2 8 Wexell 31 (AU wal 2K 28 03

BBl A1 RQU auRga B, YreHa 4Ko(l 21 Aol 8Kell AH AR
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B dl, (1) 2 AA AH ol Fecll QU a2

() 3 WA AHAl QWA SISts sal 3ecll AJU cllotoll %32 UsA?

OR
A micro computer system employs RAM chip of 2562 8 and ROM chips of

1024 2 8 size. The system needs 4K RAM and 8K ROM, then
(i)  How many Ram and ROM chips are required?
(iv)  How many address lines will be decided for RAM and ROM
chips?

As UBsl 502 M 2562 8 ABR3ell U AU U 102428
APl AH RAusll Gual 52 B. YlreHal 4Kofl 2H wal 8Koll A
A B Al, (1) 2 A AH ol Fecll QU a2

() 3 WA AHl QWA 12 32l AJA Altsatofl 32 Usd?

Write a short note on Memory Transfer Instructions.
AU 2lo$R Sores2Uol UR gSalltl Avll.

OR
Explain Principle of Locality of Reference with reference to Cache Memory.

$9l AHIoll deoldl QRAUA s ASUAZL] s 20 AHXLA.
Explain (any four) applications of Logic Micro Operations.
AYs HIBS BMUAeU ofl AAl3ale AHNLA (518 ULl UR).

OR
Draw Block Diagram of Bus Organization for Seven CPU Register & Briefly
explainwith format of Control Word.

Al AUl 22 Hizell ¢ AMIMaUsB2lotoll 6cAlls SlAUH ER

U ol aAS oll Slle WA gsUL UHHLA.
Draw & Explain Control Unit of Basic Computer.
ARDs 5112 q] so2ld Y[Ae el AMstAll.

OR
List all Memory reference Instructions, explain any one with proper
example.

Wl o AUI| §ReU Forzs2lotell ALEL tlollcll, 518 UL As ol Ao
GELSWU Gl AHxtal.

What is Addressing Mode? List all Addressing Modes and explain any one
with example.

AJALoL HIs 9 B? olul o WFA[oL Hisell ael wloticll 518 As o

Ao GELERML Gl UMl

OR
What is Shift micro Operation? Explain any one in detail.

Alge M5l WUl 9 B? 518 UQL Asal ([Axcltell UMl

Describe Strobe Control with help of source initiated Strobe for Data
transfer.

32l 2lets? HI2 AR soflalARs Rut ofl Heedl RN so2lA cRlal,

OR
Describe Strobe Control with help of Destination initiated Strobe for Data
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transfer.

32l 2lotlsR H12 3l So(lfla2s 2ot ofl Heedl WA S0l
clalell.

Draw & explain 4-level memory hierarchy.
¥-Aaet AL sl €1 ual quesAl.

OR
List various modes of Data Transfer & explain any two , with example.

32l glotgell el el HIsall ALEL collcll wal 518 URl A Hisa
Gelsulell Heeell AMosAl

Write a short note on CPU-IOP Communication with necessary diagram.
A lay-2usUl stj@dalet UR gs-ollu cuvll (331 Auigld wd).

OR
Write a short note on memory classification.

A3 sctRllgldatet uR gsollu el

Convert the expression (3*4)+(5*6) into Reverse Polish Notation & show
stack Operation.

(3*4)+(5*6) Aetalotal ol Ulcflal oliRalotHl ¥Rl Aal 5

wuRalet g9l

OR
Convert following Reverse Polish Notations into infix expressions.
(1) AA*BB*- (ii)ABC+*D/E+

o(lAatl Aad Wcllal AlR2AARA Sotglet NetYAstul JA:
(U) AA*BB*- (R)ABC+*D/E+

Describe “Register Stack™ with reference to 64-word

)W w5 ol s¥-cAdall AeelHl aulal,

OR
Describe “Memory Stack™ with reference to 64-word

AUI| RS s¥-cdSall deelHl aulal.
Explain BUS Transfer using Multiplexer ( 4 Register).
HEEAAR (¥ %)2R)oll BUADL 53lol ¢l 2l §2 UMl

Design a 4-bit Binary Adder-Subtracter Circuit.

¥-0{le gl Ws-Uuse Uusle Slonset 532

List and Explain Data Transfer Instructions.

32l 2let$R Borgsalot ofl ALEL clotlall wal UL

Write a short note on Performance Parameters of Cache Memory.

39l AUZloll URSMeU VAH2R UR Esolld cull.

List all Memory reference Instructions and explain any one, with example.

oltll o AHIL 250U Borgs2Uotoll ALEL olottc]l |, Belgwl HeEU] 518
Us Al
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